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(EH2l: Kg, US$, %)

2u 20154 20154 1~98 201644 1~98 HLEACYH|
i =g ETY =g e =z 2o (4
H oz Al 650,951,922 | 1,925,243,956 487,982,796 | 1,430,072,709 453,745,868 | 1,565,660,831 9
= BA| 1,125,300 38,567,504 751,728 25,443,672 1,706,361 47,847,300 [ 88
T 0.2 2.0 0.2 1.8 0.4 3.1
U= 1,104,493 37,686,422 738,950 24,967,589 1,094,852 33,082,753 33
e 102 1,276 102 1,276 501,464 11,995,682 | 940,000
£8 5,373 311,208 806 38,487 86,605 1,924,432 | 4,900
o= 11,301 452,957 8,489 345,036 6,909 269,375 | —22
HIE 7,194 266,994
CH2t 6 4,079 6 4,079 5,773 174,758 | 4,184
FHLICEH 2,446 55,632 2,183 46,845 821 32,877 | -30
Ajm= 535 19,445 379 13,191 767 20,362 | 123
Za[o[AlO} 113 4,295 90 3,428 590 21,933 | 540
oroflo|2|E 666 23,127 548 18,622 417 14,078 | —24
Ei= 11 418 1 1 170 9,652 | 965,100
Soi2[otLzE 172 4,766 142 3,858 307 9,522 | 147
FolE 40 2,084 184 8,570
o7t 0 19 0 19 143 3,332 | 17,437
o 30 1,144 30 1,144 56 2478 | 117
2{Alo} 20 700
LR DN [o]; 12 632 2 97 12 657 | 577
ajul 77 145




